. it Z[__#Ax BEAE — THiE &

A HEH ka ka3 7 N . [ I . S Y RE (5
1_[100m___|707 vy RB |Rx 3 | 2 |1084 3 T06600.1)  |10°81(—1.9) |10°63(—0. 5) |[10°64(—0. &) |3{Z__|PB
2 [100m L ERA #h ES 3 1 ]10.81 5 10.75(0.1) 10773(—1. 3) [10”74(—1. 7) |10”78(—0.5)[8(if [PB
3 [200m 7wy RE |ER 3 1 (21.44(-2.0) 2 21.40(-0.9) |21756(1.8)|21732(0. 3) [21"35(—0. 1) |4z |PB
4 [200m INK O — BRE 3 3 |21.68(-2.0) 4 21.63(-0.9) [21765(1.5)[21752(1. 0) [21"56(—0. 4) |84
5 |200m MR KX 3 3 2 [2157(-2.0) 5 21.64(-09) |21776(—0. 1) |21752(1. 5) PB
6 [200m +F 1IEARER [RE 2 4 [21.86(-2.0) 6 2205(-09) |21789(0. 9)

7 [400m =K & wEAEmE | 2 | 2 04841 1 48.35 47789 48”69 PB

8 [400m WK &5 b KBt 3 1 [0.48.23 6 48.88 48795

9 [800m =K & WA | 2 1 [1.55.69 1 1:54.31 DNQ

10 [800m BHE &2 SR 2 | 3 [15645 4 1.54.82 154”85 |1 55°68

11 [800m HO # BAAL 3 | 4 [15713 6 1.55.25 155796

12 [1500m  [#Ti#8 MR ZEAN 2 | 1 [35494 1 3.53.92 350714 347748 |21 |PB #W&H
13 [1500m [ZgHh B&Z aE 2 4 |[358.49 2 3:54.14 3’39720

14 [5000m [#T#E BfER AEL 2 1 [15.00.23 1 14:32.29 14°41716

15 [5000m [#HHE Z2AER |EEAE 2 2 [15.03.24 2 14:33.18 1437791

16_|5000m |E T ME |[FRZE 3 | 3 [15.05.90 3 143332 |14 49715

% 17 [11omH  [E8 F ES 3 1 [14.71(-2.8) 1 1460(-3.2) |14787(0.9)[14747(1. 0) [14768(2. 4) |61

18 [110mH _|8RE HA Efi5 3 2 [14.83(-2.8) 2 14.77(=32) |15705(—1. 0)

19 [110mH _[EE EE BXZl 3 5 [15.09(-2.8) 4 1491(-32) |15746(—0. 9)

20 [110mH &0 ¥l ®RE 3 | 3 [1494(-28) 5 15.00(-3.2) [15713(0. 9)

21 [110mH _|BH T BE 3 | 4 [1496(-28) 6 15.05(-32) |14"80(1. 2)[14761(1. 2)

22 [400mH [#AK & b K Bft 3 1 [52.87 1 52.18 52780 52772

23 |3000mSC|EF #k— BEXS 3 | 2 94056 1 9:15.76 9"17700

24 [3000mSClEXR &EFX |BZE 3 1 19:29.08 2 9:17.60 9’35746

25 [3000mSC 7|<5$ mx F= 3 | 5 [951.26 6 9:27.88 9’ 23”65

26 [5000mW [ %‘ﬁi HRE 3 2 [21:43.04 4 22:21.73 2143752 DNQ

271 |EEk [ = NEF 3 | 1 [1mo9 4 1mo8 2m01 P NM

28 [FESEk (MTER —%% AL 3 | 6 [1me3 6 1m95 NM

29 2Bk |[MA BEX BAYILFA | 3 | 1 |4m50 2 4m60 4m70 P 4m95 E |PB
30 [FEmEEk [1EE A AE 3 | 1 [7mo3 3 7m29 7m00(0. 5)

R EEE I EEES INEF 3 | 4 [142129 5 14m45(15) |14m03(1.5)

2 [fahis [#5K BE R 3 1 [16mo07 2 [1emes(EE e [16m02 P 16m99  [EHs [rB. #E%

? 33 |FahiE |k — [ 3 3 [14m60 4 15m51 15m30 P 15m24 ofir
34 (i [ Kl &K E 3 | 2 [15m51 5 15m47 14m92
35 |FaAik [=H FE BR 2 | 4 [14mo8 6 14m83 12m92
36 (MRS |1k t— WAR 3 1 |47m20 1 [ 45m89 (k£#0) [44m4a3 P 44m21 81
37 [H#EE [KIL #EK 35 3 2 [46m81 2 | 45m08 (K£#7) [42m27
38 (AT [(fA)1] @#E= & #5% 3 3 [42m63 4 43m47 42m47
39 [(wr—[ER B FtZE 3 1 |56m26 3 56m34 51m76
40 WY |FIE @BA SR 3 | 2 [57m52 4 59m21 56m22
4 [pYs 1Bk K—B [EX 3 | 3 [56me4 6 58m51 57m31

e FRA TR 5 I 2 ER R [REIES
42 |4 x 100mHE R MBS oI UyORE AR -w8@E| 1 | 4070(K2H) |40736 40745 40”20 B e
43 |4 X 400mAE = BDFA R NS AR - T U SRE| 1 3:14.20 3'16762 |3°13797
44 (4 X 400mA/\EF KEWE - ERAEZN-EXARL-AEEKX] 4 3:14.97 316”73 |3'14778
T_100m | =& Ed 2 | 1 [1258(—39) | 3 12.23-04) |12766(—1.7)
2 [100m g 1K3E E5 3 3 |1264(—39) | 4 12.23(-04) [12772(=0.7)
3 [100m g 58 FEEEES 3 | 2 [1275(=39) | 5 12.26(-04) |12'37(—0. 1) |[12746(—1. 5)
4 8 2 1 [24.89(0.3) 1 2482(-0.2) |pNS
5 INEF 2 | 5 [2556(0.3) 6 2539(-02) |25756(—0.7)
6 P& 2 2 [57.92 6 58.66 58”38

ﬁ 7 BiETE 3 1 [2:14.89 3 2:10.13 211732 |2 11733
3 BEFE 1 2 |2:16.71 6 2:11.88 211”12 [2’11714
9 BEFE 3 1 [4:30.88 5 4:2450 DNS
10 3 3 1 [1.03.99 5 1:02.67 104794
11 HEREAFE 1 | 1 [ime4 1 Tm67 1m66 P 1m63 124
12 EEa 2 | 3 [1ms8 6 1m61 NM
13 BigFE 1 2 [5m54(2.1) 2 5m77(1.2) [5m57(1.8)

14 B/ EF 3 1 [5m72(2.9) 5 5m59(0.0)  [sm76(2.4) P 5m72(1. 4)|8%

15 3 2 | 4 [5m46(1.6) 6 5m58(0.1)  |5m37(—0. 2)

16 RERFEY 3 3 [40m72 5 40m69 39m03

17 HERAAFE 1 [42225 1 44755 40545  |28f%
% IHA—% — 5 5%

18 |4 X 100mHHER EHREN- FRET-IBETE - BHERR| 2 46.83 46794 47766

19 (4 x 400mHB1#E2E FIRH M- RECOX - SHAMF -FRIPY| 2 3:50.32 3’51746 |349728

20 |4 % 400mA/\EF WHNEE - BLUESE-HERE-EELO#H| 4 3:51.96 3'53”18 |3'52”30




